
https://www.leads4pass.com/vcp-510.html
2024 Latest leads4pass VCP-510 PDF and VCE dumps Download

 

 

 

VCP-510Q&As

VMware Certified Professional on VSphere 5

Pass VMware VCP-510 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/vcp-510.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

 

 

VCP-510 PDF Dumps | VCP-510 Study Guide | VCP-510 Braindumps                                1 / 3

https://www.leads4pass.com/vcp-510.html
https://www.leads4pass.com/vcp-510.html
https://www.leads4pass.com/vcp-510.html


https://www.leads4pass.com/vcp-510.html
2024 Latest leads4pass VCP-510 PDF and VCE dumps Download

QUESTION 1

What options must be configured in the vCenter Server settings before email alerts can be sent? (Choose two.) 

A. Sender email address 

B. SNMP address information 

C. SMTP server information 

D. Email authentication information 

Correct Answer: AC 

 

QUESTION 2

An administrator has deployed vCenter Data Recovery and wants the largest possible deduplication store. Which three
storage options can be used? (Choose three.) 

A. Two CIFS shares 

B. Two RDMs on a FCP array 

C. One NFS mount on the ESXi host and one RDMs on an iSCSI array 

D. One CIFS share and one FCP RDM 

E. Two NFS mounts on the ESXi host 

Correct Answer: BCE 

 

QUESTION 3

An administrator notices that the database virtual machines fail to backup within the backup window. Each database
virtual machine has 4 vCPUs, 16GB RAM and 12 virtual disks. There are 16 database virtual machines to backup using
8 backup jobs. Which is the simplest way to improve the backup performance for these virtual machines? 

A. Add a backup job for each virtual machine. 

B. Set a 16GB reservation for each virtual machine. 

C. Add 1MB VMDK drives at 1.0, 2.0 and 3.0 on the vDR appliance. 

D. Upgrade the array to 8GB FCP and ensure multipathing is configured properly. 

Correct Answer: C 

 

QUESTION 4
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When an explicit failover order has been configured on a virtual switch with multiple uplinks, what determines which
uplink is used when a failover event occurs? 

A. The first available uplink that reports a positive link state 

B. The reported uptime for the surviving uplinks 

C. The next available uplink on the list 

D. The uplink with the shortest route 

Correct Answer: C 

 

QUESTION 5

While performing a security check the vSphere administrator finds unassigned AD accounts with vSphere permissions.
If the accounts are removed from Active Directory what will happen to any user logged into vCenter with those
accounts? 

A. The vSphere client warns the user they will be logged out in 1 hour. 

B. The user can remain logged in indefinitely. 

C. The user is immediately disconnected from vCenter Server and cannot log back in. 

D. The user can remain logged into vCenter for up to 24 hours. 

Correct Answer: D 
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